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QUESTION 1

A Mobile application developer is using IBM Mobile Foundation for the backend services. The application end users
need access to the application data even when there is no network and the application is running offline. Which of the
following IBM Mobile Foundation features will help in this scenario?

A. JSONStore

B. Mobile Foundation SDK

C. AES 256 encryption and Data storage

D. Mobile Foundation Adapters

Correct Answer: D

QUESTION 2

While building a chatbot with Watson Assistant, a developer wants to expand the dialog skill to avoid showing the
message ":1 \\'m sorry, \\'m arraid | can\\'t do that." to the user. What solutions can the developer use?

A. The developer should completely change the Intent to allow the Watson Dialog Skill to recognize a wider dialog flow

B. The developer can add a Watson Studio capability to analyze, cleanse and shape data and train machine learning
models to enhance the Dialog Skill

C. The developer can add a Search Skill to route complex customer inquiries to the IBM Watson Discovery service to
treat the user input as a search query

D. The developer should use the Watson OpenScale add-on to route inquiries to treat the user input as a search query

Correct Answer: D

QUESTION 3

A developer has been asked to create a website which needs user authentication using AppID. Aside from federation,
what service resides in ApplD to authenticate users?

A. IBM Security Key Lifecycle Manager
B. OIDC Repository

C. SAML

D. Cloud Directory

Correct Answer: C

QUESTION 4
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Which of the following workloads fits the IBM Cloud Functions processing model?
A. Complex business processes

B. High-volume, independent, parallel workloads

C. Distributed business transactions

D. Low latency workloads

Correct Answer: D

QUESTION 5

Which two of the following types of entities can be added to an Access Group when using IBM Cloud Identity and
Access Management?

A. Users

B. Service IDs
C. Policies

D. Roles

E. API keys

Correct Answer: BE
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